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Question Number : 1 Question Id : 813561321 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

If sec(x) = cosh(8). then find tanh?(6/2)

sec(x) = cosh(8) ®@on®, tanh?(6/2) =
Options:

sec?(x/2)

5%

i o
2-Jtan (x/2)

. tanh®(x/2)

sech®(x/2)

4. %
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Question Number : 2 Question Id : 813561322 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical

The equation of the tangent to the parabola y? = 12x. which makes an angle 30° with the

positive direction of x-axis is given by x —v3y + 9 = 0. then its point of contact is

y? = 12x So7d00srD8, x - w0 63 B3 30° Eno dd yGI ¥ -3y +9=0

O, V0, Do)

Options:

Question Number : 3 Question Id : 813561323 Question Type : MCQ Display Question Number

: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical
| d?y
The solution of —— = 0 represents
dax?
d?y
ratc— § I 7 D AT
dx? — =
Options:

straight lines

| POTBDD
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a circle

, g W8 DB

a parabola
3 % WS DT DVODN

a point

4 % WS Do)

Question Number : 4 Question Id : 813561324 Question Type : MCQ Display Question Number

: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

There are two dice 4 and B . Die 4 has 4 red and 2 whate faces and B has 2 red and 4 white
faces. A comn 1s tossed once. if it shows head. die 4 1s rolled, if it shows tail. die B 1s rolled 1f
the probability that die A is used is (32/33) when 1t is given that red turns up every time in
first n throws, then n =

A 08030 B 6k B0t D80 &) D. A FDE e 4 A6 2 SR Gorfoen HITE.
B 08 206 2 %) 4 BenR) Gorhen SNTW. w8 THAN JDEINTE. TR A
530 S\ A JUSR, TG’ B ISR BGoduth. A n A awee” PO 28 I8
R SN 0 GNP A S EHAr o) Rotra(d (32/33) wowd n =
Options:

1.%"5
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Question Number : 5 Question Id : 813561325 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical

/4

’ dx -
- cos3(x) - E."FZ sin(2x)

Options:

Question Number : 6 Question Id : 813561326 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical

n!

11 , =
i (n+1)! —n!

Options:

f.u
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Question Number : 7 Question Id : 813561327 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation:

Vertical

2

J ja]dx =

=3

Options:

Question Number : 8 Question Id : 813561328 Question Type : MCQ Display Question Number

: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :
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Which of the following is false?

1) If (a,b,c) are direction ratios of a line. then a® + b% + ¢? # 1

b2

) The direction cosines of a line can be its direction ratios but not vice-versa.
3) If (I, m,n) is one set of direction cosines, then (-1, —m, —n) 1s also a valid set.
4) If (Iy, my, ny) and (15, m,, n,) are direction cosines of perpendicular lines, then

Ll + mym, +nyny =1

& $08 T8 DO AV T°E?
) (a,b,c) o0 w8 39 B DondROND a*+bt+ct 1
2) 8 B &5 ERR000 65 Rowfen B 5 Do Ao T
3) (I, my, ny) BS 5000 owd (-1, —m, —n) W SrE" BPHTO
4) (-1,—m,—n) 8030 (15, my, n;) Botd Vordarw) S SR oW [;1; +
mm; +nn, =1
Options:

% 1
2, %
3, |

4,

Question Number : 9 Question Id : 813561329 Question Type : MCQ Display Question Number
: Yes Is Question Mandatory : No Single Line Question Option : No Option Orientation :

Vertical
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If the sum of the roots of the quadratic equations is 1 and sum of the squares of the roots 1s
13. then find that equation

QPR QNG 17, APy D07V QG "137 BN QPTTV (0 30 ST

Options:

1%12+x—6=0

5 % x2—x+6=0

3 J_tz—.’(—6=0

% XX +x+6=0

Question Number : 10 Question Id : 813561330 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
If a diagonal of a square is along the line 8x — 15y = 0 and one of its vertices 1s (1, 2). then

the equations of the sides of the square passing through this vertex are

8 BE6FIS € $6:50 By — 15y = 0 208050 28 3¢Aw (1,2) w0, AN
3826308 (1,2) 3¢ ot Yo are HSGT

Options:

.\  2BX=Ty+9=0, 7x+23y+53 =10

5 o 23x—7Ty—9=0,7Tx+23y—53=0

3 % 23 +7y —9=0, 7x +23y —53 =0
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4% 23X+ I¥y—9=0.7Tx 123y +53 =0

Question Number : 11 Question Id : 813561331 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

tanA tanB tanC 2 2 2
= 3 = p then the value of sec® A + sec“ B + sec“(C =

In triangle ABC .

sfand tanB tanC 5 5 5
ABC Bzhaansd T g o 90, sec” A +sec” B +sec”C =

Options:
101

1.% 8

111

N
4
|

Question Number : 12 Question Id : 813561332 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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xZ4+x+1 B C

If = A+ - then A — B 1s equal to
x2+2x+1 x+1 (x+1)2 e

xZ4+x+1 B C

— A+ — + —— 9000 4 — B Ded doch?
x%4+2x+1 x+1 (x+1)%2

Options:
. % 4C

, u G

Y

Question Number : 13 Question Id : 813561333 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which of the following is false?

1) If Aisaskew symmetric matrix of order 5 X 5 . then the rank of A is less than 5
2) If P 1s a nonzero column matrix and Q 1s a non-zero row matrix, then the rank of PQ
15 1

i
3) Rankof| 2
5

o L R e T

n
41182
?-

4) If the lines a,x + b,y + ¢, = 0 (r = 1,2,3) are distinct and intersect at a point, then
i By ]
rankof [a; b, ;183
I a3 bg C3 '

& 300 TS 6 @wgw?
1) Awg5x5 38 0 -8 wand, E8(A) 5 got 883
2) Pus %'J“R’)ﬁ@d QR0 WA SGS. Q w8 %\Pﬁﬁéﬁ E‘)C&‘.) QAR TGS, O
§8(PQ) 1 erodd

!‘)J

4 2 5§
) §8|2 3 4| =2
5 & 7

4) ax+by+e,=0(r=123) w D) 0¥ dpom Ardodid. &

[ag B &
D08 28 DodoPHS” ModotrE Ry ,§6 (a; by ¢ |=3
{3 b3 €3 |
Options:
1. 8 :
2. % °
3. % .
4ot
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Question Number : 14 Question Id : 813561334 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Choose the correct option regarding the following statements
(1) Co+Cy+Cy++C,=2"1ifniseven
(11] C]_ T Cg 7 Cs Pl +Cﬂ-l — 2"'_1 if n 1s even
$08 DIBTV B HOADODY A JothoE ol
(1) Co+Co+Cyp++C, =21 n 28 oD
(1) C;+C3+Cs+++Cph_y =2" 1. n 28 00D
Options:
(1) 1s true. (11) 1s false

. (1) ro@s.m:, (11) w“«a@s&»

(1) 1s false, (11) 1s true

, (D) ©RSw, (if) DS

Both (1) and (11) are false

3 % (1) 00030 (11) &0 e:::ae:asmow

Both (1) and (i1) are true

e (1) B0 (i1) e ‘&@5;::.139.13

Question Number : 15 Question Id : 813561335 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The number of different words that can be formed from the letters of the word
“INTERMEDIATE" such that two vowels never come together, 1s

“INTERMEDIATE" 98 H3306"D 056300 D B0 0w 98 09 G0t
0B\ D6yE DBZNL Voa| Jot?

Options:
6! 7!
- B 5 2! 3!
T ™
5! 6!
. 213
2. %
& 7!
3 % 2!3!
6! 6!
X
4. 2! 213

Question Number : 16 Question Id : 813561336 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A straight line 1s drawn through the pomt A(1, 2) such that its point of mtersection with the
straight line x + y = 4 is at a distance v/6/3 from the given point ‘4’. Find the angle which
the line makes with the positive direction of x-axis.

A(1,2) Dotsoay) oot J'ahert AP 28 DEVED x + y = 4 B0 ocodd Dot ‘4’
dot) 16/3 G5 (rdedS’ &otd, &5 B x-0£) 6% IS Sot St dod?

Options:

1‘Vtﬁv'=15‘:‘ & 75°
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3

4.

. B8=75° & 45°

4 0=45° & 60°

. 2=60° & 30°
b

AP EAMCET 2020

Question Number : 17 Question Id : 813561337 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In an apartment there are 30 kids. If each kid plays table tennis with other kid. then the total
number of matches played by them

28 0T, off & 30 Qod DYED &T) . P BOTE WA HB DYTIF BHS B

&

e3¢ A0RS, Do Bed do BV 08

Options:
. 30(,‘2
2, % P,
3, % 61
4. % PP, —1

Question Number : 18 Question Id : 813561338 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The curve 3y® = 2ax? + 6b passes through the point P(3,—1) and the gradient of the
curve at P 15 “—1", then the values of a and b are

3% = 2ax® + 6b 3830 P(3,~1) Dot ot TPHitdd) &. P Dot I¢ o) &
(o) “—1" ©00d. a 0030 b QLS SR AL ?

Options:

1. ¢
=
B S —2) |
2. %
a:?,bzl
3. %
=1
a=—_ b= =1
4. % 2

Question Number : 19 Question Id : 813561339 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

_ | 1
f[log(_log.x) + (log 1)? dx =

Options:

L% X [log(logx) + logx] + ¢
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- 5
log(logx) b

. log(log x) + ¢

4,

X [log(log x) — @] +c

AP EAMCET 2020

Question Number : 20 Question Id : 813561340 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Choose the correct option about the matrices given below

$08 JrHSw 1B VOGS JotE ol

B 14
cCOS —
4
S0 i T
A= —Ssin—
4
I 0
[ /14
COS —
6
= 0
3 T
—sin—
4 6
Options:

2020 __
1.%’4 =4

5 % BZGZ[}:I

2019 __
3. % D =

= Tr T
sin— 0O
4
y [ 4
cos— 0
4
0 ¥
g ]
0 sin —
6
1 0
T
cosS — 0
6

-

1 0
T
10 cos—
= 3
= T
0 —sin—
| 3
b T
cOS—
2
== . T
b= —sin—
2
b 0

AP EAMCET 2020
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B2022 — g
4.

Question Number : 21 Question Id : 813561341 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

InaAABC, £C = 60° and ZA = 75°. If D is a point on AC such that the area of ABAD is V3
tumes the area of ABCD. then the measure of ZABD 15

ABC Qzbadwd’ £C = 60° 080k 24 = 75°. D 0xod6 *BAD oty Tofsw =
V3 X BCD gaioasy) DT’ 0 8,2 065 AC 06 a8 Dochiid) A, LABD D Jods?

Options:

1w 3

- 45°

3, & 60°

90°

Question Number : 22 Question Id : 813561342 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The value of x n (Ug) satisfying the equation (sin x)(cosx) = 3 18

_ 1
(sin ) (cos ) = - 0bE6m30% &yD DO (0.%) eosaans’ ok x Devs
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Options:
7

1_;«;.46

Question Number : 23 Question Id : 813561343 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The lines ax? + 2hxy + by? = 0 are at right angles if

ax? 4+ 2hxy + by? = 0 2rDod BeL Voe)BeD ANS

Options:

i a+b=0
5 a+b=1
3 x h* —ab=
4 n B=H
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Question Number : 24 Question Id : 813561344 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In an ellipse. two vertices are (5, 0) and (0, —4). Then the equation of the ellipse s

(5,0) 0800 (0,—4) Fgreor o BYS,S DLEEA

Options:
2 2
X 4
=1
1 % 16 25
> -i-y2 1
5 o 25 16
2 2
s Y
+ =1
3 % O 4
4% x? +y% =41

Question Number : 25 Question Id : 813561345 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

C

b
f(x+c)dx = kf f(x) dx

i
Find the value of “k’. if it is given that f
0

Options:

C

b
f(x+c)dx = kj'f(x) dx e, k =

1. ¢
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Question Number : 26 Question Id : 813561346 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Let u and v be two non-zero vectors. Then the magnitude of the cross product u X v 1s always

u, v éofﬁsejcﬁ DAV E"SQ VT D) ko U X V 0I0S) T2

Options:

, < lul|v|

. =1 ]
-

> |ul|v|

Question Number : 27 Question Id : 813561347 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The differential equation of the family of all straight lines passing through the origm is

AP EAMCET 2020

20r0Doddd) Mot Jah Gar L0t LIV PAEGHAN

Options:
, dy
X —y—
1 % T odx
d
av o
2, % 4
ay
=
3.¢
d’y _y

Question Number : 28 Question Id : 813561348 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Let the complex numbers « and (1/«) lie on circles (x — xg)% + (v — y4)* = r® and

(x —x0)* + (v — yp)* = 4r? respectively. If z, = x, + iy, satisfies the equation 2|zo|* =

r? 4 2 then |a| =

a 8o (1/a) :ouég RoR{en SR (x = xp) + (y = )* = ¥ S0Bakw (x — xp)* +
(y—3p)% = 4r* dy5op &) . 208 ?boég R0 2 = Xo + iy, 20z = 1% 4 2
PRVSOETR) By D8R, [a| =

Options:
1

| % V2

AP EAMCET 2020
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m||—'-

|~

)

w|b—-

Question Number : 29 Question Id : 813561349 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

mf2
l eSmX cosx dx =
0

Options:

, x 1te

3w e—1

4.% °

Question Number : 30 Question Id : 813561350 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Suppose X has the following probability mass function P(X =0) = 02, P(X =1) = 0.5.
P(X = 2) = 03, What E[X?] =)

X %0 ofrdyONg o 0738 Derand pdvate P(X =0) = 0.2, P(X =1) =05, P(X =
2) = 0.3 wand E[X?] dewsd

Options:
2.89

1. %

Question Number : 31 Question Id : 813561351 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

fu"x | (,1' VX + 1)-1 dx =

Options:

o lnlx + Vx? — l| —Sec(x) +c

” ln|x —Vx?Z — 1| —Tan"*(x) + ¢

2 % 111|:r + Va2 — l| +Sec Y(x) + ¢
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4 ln|x +vVx2—1|—Tan *(x) + ¢

Question Number : 32 Question Id : 813561352 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Let ABC be a triangle. Let u = AB and v = AC.If D is a middle point of BC. then AD =

ABC gzbaanod’ u = AB, v=AC 008 BC £ D 2065] Dotho) o, AD =

Options:
u—v

Question Number : 33 Question Id : 813561353 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

a™ + b™ 1s divisible by . if n 1s any odd positive integer
DA n 8D JPgros IS a”t + b" 8 AT 2HotdeIcS0
Options:
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a® + b?

4'_Ja.+b

Question Number : 34 Question Id : 813561354 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The equation of the smallest circle passing through the mtersection of the lme x + y =1 and
the circle x* + y* = 9 is

4y =9 580 2805 x +y = 1 50 Dok Dot (0 %) B8 W) 3w

Options:

. N 2 4+y?P-9—-(x+y+1)=0
x24+y2—-9—-(x+yv—-1)=0

2. ¥

2 4+y2—-9—x4+y—1=0

3, % ' :
By ool e R

TE + y 9+4x+y—1=0

Question Number : 35 Question Id : 813561355 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

oo | atib etid | R T
If4= Bt o and A _[C-Hd o ].Fmd(n +b° +¢° +d°)

| at+ib c+id 4| atib -c-id B o B
A= etid n_fb]mﬁoqu {—[‘Hd a—ib oA, (a“+b°+c*+d°) =
Options:
1o 1

o —1
™
g, *
4, % !

Question Number : 36 Question Id : 813561356 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

lim(1 + 3x)%/* =

x—=0
Options:
1% 6
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Question Number : 37 Question Id : 813561357 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Let u, v and w be vectors such thatu + v+w =0, |u| = 3,|v| = 5 and [w| = 7. Then the
angle between u and v 1s

wY,Wwen s u+v+w=0,ul=3,|v| =5 20a0 |w| =7 ©ond u.vev 3065

&'tas0

Options:
60°

(1% g
70°

80°

90°

Question Number : 38 Question Id : 813561358 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A circle 15 drawn touching the x-axis, with its centre at the point of reflection of (m, n) on

the line y — x = 0. Then the equation of the circle is

y—x =008 ﬁag‘g (m, 1) Dotid) g, H3DoEry Sogdor $BA Gotur, 1-0)

Py 80 38 RAGRSY
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Options:

1 % x> +y?—2mx—-2ny+m?=0
> R x* + ,1'2 —2mx + 2ny + m2 =0
3 % x> +y2+2nx—2my—n®=0
A & X2+ vy —2nx —2my +n? =0

Question Number : 39 Question Id : 813561359 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Number of roots common to the equations x> + ¥ —2x—2=0and x* =2 - 2x +2=01is

B4 =20 =2 =0 &80k 3 — 12— 2 + 2 = 0 vdesere &) ¢ Y Vo

Options:

Question Number : 40 Question Id : 813561360 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

InaAABC, b:c=+/3:+2andthe angles A, B, C arein A.P. then Z4 =

ABC Sz0m8008° b : ¢ = /3112 20800 4, B, C 00 @08 3¢5 (AP) &olsd, LA =

Options:
45°

1« =

, 65°

o DDP

a.v 75°

Question Number : 41 Question Id : 813561361 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In a game, a person wins 5 rupees for getting a number greater than 4 and loses I rupee
otherwise, when a fair die 1s thrown. A man participated in the game, but decided to quit as
and when he gets a number greater than 4. Then the expected value (mean value) of the
amount he wins/ loses 1s

28 B8 DSB8 AyE8 TV AODVIYED 4 83) LS Roa)| HES LSS 5

draronen 0w, G6J'd 1 draran AYTTE. B0det) 8RS’ 18 K8 FET) D,

5 S0P 4 §3) Iy R0 DA Dot e5) D6 Aol AAEEET) 0.

e B3 Al Jor SQJ'oh S QG0 dod?

Options:
9
1. % 19
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Question Number : 42 Question Id : 813561362 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If a and f are non-real roots of x> — x% — x — 2 = 0 then 2020 4 p2020 4 (2020 . p2020

@ 08050 f e x® = 1% —x =2 = 0 £ TR Rofen 57 rwdwen. «*% + A0 +

ﬂ?.i}ZEl , ﬁZUZU -

Options:

Question Number : 43 Question Id : 813561363 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

. T dy T
Ifv= |2x + cos? (2:1‘ +—) then — atx =—
B \/ - 4 dx 4

d
y = JZI + cos? (21‘ + E) L9020, d—i R =

L

e
A

Options:
2\#’5
1 « \"I w+1

L 2Vvm+1

j'I

|

N
¥
-
~
oo
=

Question Number : 44 Question Id : 813561364 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If @ is the angle between two vectors p = 37 +47 — kand 7 =27 — ] + k then. sin(a) =

F =37 +47 - kandaso 7 =27 - 7 + k0040 dugsg S « oo, sin(a) =

Options:

145
s
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Question Number : 45 Question Id : 813561365 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A polygon has 54 diagonals. The number of sides of this polygon 1s

28 Liozbae” 54 S83wen ea‘)l:S", &R 2020 Doy

Options:

o A5

15

Question Number : 46 Question Id : 813561366 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

Equation of the perpendicular bisector of the lme joining the points whose position vectors

are a and b respectively is

7 208080 b &0 Bot) Do SFROEID. & DoddPOR SV Baraocitn CRE),

mmmasaam 6&_5“‘;:31)5699:11)

Options:
. (2F—@—-b).(@-b)=0

5 % (2r—a-b).(@+b)=0

,x (@F+@+Db).(@-b)=0

,x 2F—a@+D).(@+b)=0

Question Number : 47 Question Id : 813561367 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The angle between the straight lines x? + 4xv + y% = 0 is

x? + 4xy +y? = 0 20°Dod B0 065 Eeazh

Options:
30°

1. %
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60°

90°

Question Number : 48 Question Id : 813561368 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If f(x) = x* —x® + 7x? + 14. then what is the value of f'(5)?
f(x) =x* —x3 + 7x% 4+ 14 0o®. f'(5) dewd
Options:

. 594

, 549
., 954

4 o 495

Question Number : 49 Question Id : 813561369 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The radical centre of the circles x2 + y2 —4x — 6y +5=0.x* +y* - 2x—4y-1=0

and x% 4 y? — 6x — 2y = 0 1s equal to

4yt —4x—6y+5=0,x>+y* - 2x—4y—1=0 Sobatv x> +y*—6x-2y=0
TV QurwSofo BUDG.

Options:

(33 20)
4 73
(33 10)
i %3
(33 —20)
s N8 " B
(33 —10)
$ 7 3

4

Question Number : 50 Question Id : 813561370 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

To which point the origin is to be shifted in order to eliminate first powers of x and y (x* and

y* terms) from the equation 4x + 9y* —8x + 36y +4 =07

4x% +9y% —8x 4 36y + 4 = 0 2E00S"D x* 280k y! 0 SHod BaHEras
207Dt O Dothad) HGL 76\ IT?

Options:
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, x (-1,2)

o (1,-2)

4 &1,73)

Question Number : 51 Question Id : 813561371 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

: . . . " . J_—
The combined equation of the lines passing through the origin and having slopes z and i

2 =4
aredoc) o P — baty — eoer o G deatr) 2EBHAD Bud

Options:

2x% —9y? =
. :

5 % dy= — LAy 9_1-*2 ==

2 _ gyl =
3'\/4:1 91

o 22+ xy—9y2=0

Question Number : 52 Question Id : 813561372 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Let PQ and RS be tangents at the extremities of a diameter PR of a circle of radius r such that
PS and RQ intersect at a pomt X on the circumference of the circle. then 2r equals

r 3’5‘}%" R 28 H)8 T(RAw PR Q360 Add 29y6\300 PQ 080 RS ev. PS 2Bk
RQ 0 Sydn aws), 08 w8 Do X alo D0CoINTT GRT) Q. Y 21 =
Options:

1-J\/PQ-RS

PQ+RS

J(PQ)ZHRS)Z
2
4, %

Question Number : 53 Question Id : 813561373 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
If the line joining the points (k, 3,4), (4,7,8) is parallel to the line joining the points

(-1,-2,1), (1,2,1) thenk +1 =

(k,3,4), (4,7,8) DoopHodd 885 8 (—1,-2,1), (1,2,]) Dotodnv 95 sy
Raroddor &ofd, k + [ =

Options:

1.3@2
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Question Number : 54 Question Id : 813561374 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

1 — cos(2x) + sin(x) -
sin(2x) + cos(x)

Options:

1 % sin(x)

% cos(x)

T, tan(x)

cosec(x
4, % (x)

Question Number : 55 Question Id : 813561375 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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39
Find Z f(t) iff:R— Risdefinedas f(x+y) = f(x) +f(y), x, yERand f(1) = 7
(=1

39
f:R— R 9200080 f(x+y) = f(x) + f(¥), x,y € R 0opd> f(1) = 7 wons, Zf(t) —
t=1

Options:

5187

1. %
, o 5460

L x 5740

. 5407

Question Number : 56 Question Id : 813561376 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The value of ‘k’ for which the function f(x) = k(x + sinx) + k is increasing, is equal to

f(x) = k(x +sinx) + k es63re 90050 000D, ‘k’ Qe K)80t) dab :)g“ﬁomuan?

Options:

1% k<0
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Data Insufficient
ST"oB00 w:ao:;ygan

Question Number : 57 Question Id : 813561377 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A number 15 selected at random from the set {1,2,3,4,++++,1000}. then the probability of
getting a number which 1s a perfect cube or a natural number having odd number of divisors s

{1,234, 1000} 208 d00c. 2,8 Do) AIrE NS JotddS A, B0 8

Ny A0S, D 5°0) PRS0 303)5 £30 8900 ‘a@&ﬁo% (VAN fo::ar;svgej

Options:
481

1 & 500

483

479
500

477
500

Question Number : 58 Question Id : 813561378 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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A homogenous equation of second degree in x and y represents which of the following?

Y,y 08" Bold B6AD HRHTS DEGEAN BID ATDRVA?

Options:
Two lines
0o ROFoDLN

A pair of straight lines through the origin

5 200D Mol &R Barrasnr) &)

Only one line through origin
Srewdotind) (ot 0D w8 TR

A circle whose centre 1sn’t the origin
 Qr0DEIDR SoFAWMT Gokd DT

Question Number : 59 Question Id : 813561379 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If 4cosx + 3sinx = 5. then find the value of tan x =

4cosx +3sinx =5 0. tanx =

Options:
3

1.¢ 4
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-3
3_ W

—4
4. % 3

Question Number : 60 Question Id : 813561380 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Find a*+ f* if a, f are the roots of equation x* + x + 1 = 0.
24 x+1=0%8rorw a, [ e ond, at 4+ 4 Dend dod?

Options:
1
% @B

2
2, 8 f

3, % %P

Question Number : 61 Question Id : 813561381 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Gtven that lines Ly: y = mgx, Ly: y = myx and Ls: y = m.x make equal itercepts on the
line x + y = 1. then

Li:y =mgx, Ly y = myx Q08030 La: y = myx 8000 x +y = 1 892 DArd Boddoete
D009, $0BT" A Jadw?

Options:
- 20 +my)(A+m) = (1 +my)(1+m,)

5 of 2(1+m ) +m )= (14+mp)2+my +m,)

5 % A+m)A+my) = QR+m)A+myg+m,)

L x (LM +mp) = (1+my)(2 +mg +me)

Question Number : 62 Question Id : 813561382 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

k—2 2k—3 3k —4
Find the valueof ‘k". if |k —4 2k—9 3k—-16|=0
k—8 2k—27 3k — 64

k—2 2k-—3 3k —4

k—4 2k—9 3k—16|=0 ®@ol. k =
k—8 Zk—27 3k—64

Options:

1. % 1

Ri. B
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Question Number : 63 Question Id : 813561383 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The lengths of the sides of the rectangle of greatest area that can be mscribed in the ellipse

v 4 4y% = 64 are

%+ 4y° = 64 &gagéuﬁ DodddDotirie (102 DT V(0N AGBAGH Zorw TEHW
- ™ 0 )
S0 Mok

Options:

Question Number : 64 Question Id : 813561384 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Equation of the line passing through the mtersection of the plane x + 2y + 3z = 4 and the

s X1 31 &1
line - —
2 1 = |

and parallel to the vector (271 —37) X (i +2] - I}‘N{) 1S

=1 vl =
X+ 2y + 3z = 4 00D RN

1
OB (10 Dotéd Mok & )

(21 =3])X (1 +2] — k) 908 230620 Q0oé REVED DDSEHA

Options:
= =1 z+1
% 3 2 =7
e =g 2]
) % =3 —a 7
X—5 —1 Z31
3o =3 -2 -7
x=5 =1 21
4 % X 8 9

Question Number : 65 Question Id : 813561385 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The area of an equilateral triangle inscribed in the circle x* + y —6x + 2y —28 =0 is
square units

1?4+ y? —6x + 2y — 28 = 0 S0 506D LeddDocsCS DEFITGZS PTVNo

62 QP

Options:
27V3

1. 2
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Question Number : 66 Question Id : 813561386 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Ka=2i+7]- 3k and b =37 - j+2 k . then find the angle between the vectors

2@ +b and@ +2b.

T=21+)-3k 00w b =31 — ] +2k wawd, 2a + b 8aw a@ +2b »8%v

06§ E'roan

Options:

Cus_l( : o8 )
V42 X 35

o,
Cos_l( , & )
V24 X 32

1. %

2. %

o2
Cos{—
3.¢ V74 X 65
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Cos“l( , i )
V18 X 32

4, %

Question Number : 67 Question Id : 813561387 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

ForA,Band C.if A+ B + C = 0, then sin(24) + sin(2B) + sin(2C) is equal to

ABCos A+ B+ C = 0o, sin(24) + sin(2B) + sin(2C€) =

Options:
. 4sin(A) - sin(B) - sin(C)

5 % 2 sin(A4) - sin(B) - sin(C)

5 —4 sin(A4) - sin(B) - sin(C)

4. —2sin(A) - sin(B) - sin(C)

Question Number : 68 Question Id : 813561388 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If f(x) = VX +2v2x — 4 +vx — 2y/2x — 4 . then the value of 10 X f'(102)=

F(X) = Vx+2VZx — &+ Vx — 2VZx — & ©owd, 10 X f/(102)=

Options:

R
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Question Number : 69 Question Id : 813561389 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If (@, 8) 1s a point on the join of (2,5) and (4, —1) then

(2,5) S080sw (4, —1) Doty $8D S (a,8) 28 Doty ond,

Options:
8
a=—
1:.%
a=—
2. % 8
3 _\_/-azl
. @==1
4_&;

Question Number : 70 Question Id : 813561390 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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cos 7x — cos 8x
[ 1+ 2 cos 5x

Options:

1
sin 2x — ; sin3x +c¢

P
: S
—sin2x ——sin3x + ¢
2.¢ 2 .
| ;
—sin2x —sin3x + ¢
3. % 2
L. % =
—sin2x ——sin3x +c¢
4, % 2

Question Number : 71 Question Id : 813561391 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

R -
In the expansion of (V3 + V2)

—_ 5
V3 +32)" duoens*

Options:
Number of rational terms 1s 3
e9&3E303 DL oy 3

1. %

Sum of all rational terms is 58

, 3 ©SCEIOD HEJNVL BB 58
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Sum of all rational terms is greater than the sum of all irrational terms
9SG0 DEA0L ANSA SEROH DERVL ANVBAD Sod DL

Sum of all urrational terms 1s greater than the sum of all rational terms

S66305 DSAVY QVSAD EGEICD DEHVL AVSAD Eok DEG
4.

Question Number : 72 Question Id : 813561392 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Evaluatef sin(Vk ) dk on (0, )

(0,0) & J sin(Vk ) dk =
Options:

v i Z[COS(VT) = \-'Tsin(xf}_()] +c

2 2 2[008@7?) - «...“"Esin(x@)] +c

: Z[x*'E cos(xﬁa — -\f’?sin(xu’@] : g -
3, %

2[sin(Vk) — Vk cos(Vk
- [sm(\f_) \ cos(w )]+c

Question Number : 73 Question Id : 813561393 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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The binomual distribution whose mean 1s 9 and whose standard deviation 15 e equal to

3
©08 (03w 9, FOrEIS DBIVAAW P (0 B PR Jevd

Options:
1% 4 4

(3 | 1)12
5 o & ok

TLE A

Question Number : 74 Question Id : 813561394 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The equation of the normal to the curve x = a cosh(t). y = b sinh(t) at any point ¢ is

x = acosh(t), y = bsinh(t) 35708 D3 Do) t 3¢ A eDvotBD PREGHRAY

Options:
o X+ by = a® + b?

ax sech(t) + by cosech(t) = a® + b?
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ax sech(t) — by cosech(t) = a® — b?

e

ax by

2 2
—& b
4 % sinh(t)  cosh(t) ¥

Question Number : 75 Question Id : 813561395 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Find the function g(t) if f(t) = 3t- 2and (gof)™1 (t) = t — 2.

f(t) = 3t- 2 2805w (gof) ' () = t — 2 wawd. g(t) Q&Ju‘irbl BVDoC

Options:
(t—8)
& g(t) = -
(t+8)
gey=—
2.V
. (8—t)
i 9(t) = —3
g(t)=3t—8

Question Number : 76 Question Id : 813561396 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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d

dx

Options:

(elﬂge v1+tan? x) =

sec?(x) - tan(x)
sec(x) - tan®(x)
sec(x) - tan(x)

tan?(x)

Question Number : 77 Question Id : 813561397 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The equation of the tangent to the parabola y* = 16x. which is perpendicular to the line
3x —4y +5=01s gtven by

y?2 = 161 DoeH00srS, 3x — 4y + 5 = 0 DOVODL Votdom™ ol Ry6\0 2aDEBA
Options:

4x —3y+9=0

| P

4x +3y—9=0
% ]

3_¢4I+3y+9=0

4x —3y—9=0

AP EAMCET 2020 )
collegedunia:s

India’s largest Student Review Platform

el



AP EAMCET 2020

Question Number : 78 Question Id : 813561398 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

. 5 (x-7) . : :
Find the equation of the normal to the curve y = m at the pomt where 1t cuts the x-axis.
=7
y= % R A, -VFR) Docotd Do) Bl AN BardE6man 3R
Options:
1% 20x+y+140=0
5 x X~ 20y — 140 =0

. x+20y+140=0

s v 20x+y—140=0

Question Number : 79 Question Id : 813561399 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The solution of the differential equation cos(x + v) dy = dx given that y(0) = 0 is

y(0) = 0 @0, cos(x + ) dy = dx ©3&0d HEEER FEd

Options:

x+y
y = tan ()
iy 9
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. x+
VYV = §11 (_y)
y % 2

2, %
y = tan (i)
3, % 5
X
y = tan (w)
4. % .

AP EAMCET 2020

Question Number : 80 Question Id : 813561400 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following equations has roots which are negatives of the roots of the equation

-t tx—4=0?

$0B706" 1% - 1% 41— 4 = 0 0800 NG SrwLL JBTS MKeL $HAN Do

QAPEFROT (1) 6ross HEsmo

Options:
x2—x?4+x—-4=0

1, %

5o ¥ 4+x2+x+4=0

XB—x2+x—-4=0
3. 8

4 % x3—x?—x—4=
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Section Number :
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :
Display Number Panel :
Group All Questions :

Mark As Answered Required?:

Physics
Z
Mandatory
40
40
40
Yes
Yes

Yes

Question Number : 81 Question Id : 813561401 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A transformer works on the principle of

DBDHGSAD D DTSNV 9B 7

Options:
self-induction

RCoH0 0E

electrical inertia
3@56 ae,c.‘.e:ﬁsan

magnetic effect of electric current
DENS DI TE), AT 0SLTHI0

mutual induction
e S(] Doe
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Question Number : 82 Question Id : 813561402 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A proton moving with a velocity. 2.5 X 107m/sec . enters a magnetic field of intensity 2.5T
making an angle 30" with the magnetic field. The force on the proton is

2.5 X 10"m/sec H6808 28 Jerdy 2.5T 00 o8 306" 307 & 9B,
Ferad 6 HABH LA

Options:

L %3 X 10~12N

12
2.‘?_)5><10 N

5§ 6 X 10712N

— 38
4 % 2 X 107N

Question Number : 83 Question Id : 813561403 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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A person of mass M = 90 kg standing on a smooth horizontal plane of ice throws a body of
mass m = 10 kg horizontally on the same surface. If the distance between the person and

body after 10 seconds 1s 10 meters the K.E. of the person (in joules) 1s

90 kg B9(0°3 (0 2,8 DA Dotk AW, 82 DATBE Swop ey 10 kg 35[0
10 R0 £ VATSEANTT VBT, 10 6L SIS DV2S HRYE A0
Broan 10 08 wond 2% (Gu#S (¥S’) Bupiw.

Options:
1.« 04517

5 % 0907

4% 0J

Question Number : 84 Question Id : 813561404 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A horizontal overhead powerline at a height of 5 m from the ground and carries a current of
150 A from East to West. The magnetic field directly below it on ground 1s

08 A0 VP0G W) S TR Frad SwH Aot 5 m e’ 150 4
IS TP $A Arddy Aol DEIGL DITFRVA. PENSZT & ots VD
&) OOLIY 0B FASD

Options:

6 X 107° T towards South
| @ GERAD IPD6X107°T
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6 X 107° T towards West
 DEG PP 6 X 107°T

2, %

7 X 107° T towards East
o -6
3 % SFCN P 7 X 10 7T

8 X 10™7 T towards North
EDCAD DN 8 X 1077 T

4, %

AP EAMCET 2020

Question Number : 85 Question Id : 813561405 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The tension in the spring 1s
Dol &' B

5 N+——JO0000IN—» 5N

Options:
8 QN

10N

, 25N

i
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Question Number : 86 Question Id : 813561406 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The door of an operating refrigerator is kept open. As a result. the temperature of the room will

TEBR) 88800 dLu BB, & HISIT (16 agga

Options:
remain unchanged
2908 &0t (SIr6e)

1. %

increases

, o DEOHOD

decreases

5, SR

depends on the contents inside the refrigerator

4 % ODRVODS” Golt TED BEEHEI

Question Number : 87 Question Id : 813561407 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If 60% of the kinetic energy of water falling from 210 m high water fall 1s converted into
heat. the raise in temperature of water at the bottom of the falls 1s nearly (specific
heat of water=4.2x 10° Tkg™* K™%

210m g o 8 B0ddo Aol A $o63 HABYYE 60% A2 3§ & Jr03,
20rdo 0D &) M ad8s’ Dl azpaeHT (A8 DT =
42x103Tkg™ K1)
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Options:
1. & 0.6°C

2. v 0.3°C

4 % 24K

Question Number : 88 Question Id : 813561408 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

An AM wave has 1800 W of total power content. for 100% modulation the carrier should
have power content equal to

208 AM 86oridn $ACND) A 5“3539,55” D0 1800 W. A& 100%
GoUTrRS TS BoANNE) GOtV a»mgé;m

Options:

. 1000w

5 1200 W

.« 1500W

. 1600W

Question Number : 89 Question Id : 813561409 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

For a perfect black body. the absorption coefficient is

DBRTG ERHDRPL T MEISID

Options:

Question Number : 90 Question Id : 813561410 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

In a balanced meter bridge. the segment of wire opposite to a resistance of 70 Q 15 70 cm. The
unknown resistance 1

o800 o6 A" 70 Q AWerdS D6y Ty 70 em o, 386D o dod?

Options:
| @ 300

, % 60Q

90 2
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Question Number : 91 Question Id : 813561411 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Which of the following options 1s correct for the object having a straight-line motion

represented by the following graph?

$06 AP 383D BEFOANT w§ WY VLS ArGAWES’ ALV oV
Ao, 08T Jonswss’ DB HBHA?

s —>
Options:
The object moves with constantly increasing velocity from O to A and then 1t moves with constant velocity.

s 000l A 50 380 0 3) Dot S0e0dod. & TS HOITR) Tokrod.

Velocity of the object increases uniformly

L D0 a0g), Dridw DEBAT DEBE

Average velocity 1s zero

VOO0 i) waéma
3.v
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The graph shown is impossible

in Ao HETD DGEIL) 9R0ZIDE

Question Number : 92 Question Id : 813561412 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If a force F 1s applied on a body and 1t moves with a velocity v. the power will be

w8 SR F 0erd) Hoirfoiotmro o6 v Sy Job S@endod) 8. eons,

0BT S’ ° &mgébl 30D 8?

Options:

1 F.v

5 % F/v

3, % F/v®

_ F.v?
4, %

Question Number : 93 Question Id : 813561413 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A ballet dancer suddenly folds her outstretched arms. Her angular velocity

32000809 A0 T G0l BAW 28 FOT LT JEDTE. 6 Eradda
Options:
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increases
1 « MO

decreases
SO
N

remains the same
3 % SO

may increase or decrease
| bdf‘i.‘bz‘.&)t) o @gmbm

Question Number : 94 Question Id : 813561414 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Resistance of a tungsten wire at 150°C 1s 133 Q. Its temperature coefficient of resistance 1s
0.0045 °C™*. The resistance of this wire at 500°C is

150°C 565 &0 28 LoridS & AW 133 Q. B &y MWeE brsw 0.0045 °C,

500°C 3¢ & a4 DB A0

Options:
180 Q

1.8

, & 8

s v 258Q

2 u 3R
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Question Number : 95 Question Id : 813561415 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

At high altitude. a body explodes which 1s at rest into two equal fragments with one fragment
receiving horizontal velocity of 10 m.s™*. Time taken by the two radius vectors connecting
pomt of explosion to fragments to make 90° 1s

LD IO B VT8 WD) 2,8 SR Totd) PBPorerT DIIB. 28 Potta
SR 2820AT0S6 S 10 m. 574 SR DT F80 Ao Yot §

0“53"3 HO%0 90° ' Soes D80 SR

Options:
1 % 10s

2, 8 %S

3 @ 28

:

Question Number : 96 Question Id : 813561416 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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A mass ‘m’ 1s in rest on an inclined plane of mass ‘M which 1s further resting on a smooth
horizontal plane. Now, if the mass ‘m’ starts moving under gravity, the position of center of
mass of system will

w8 MR~ £82 DATod6 SUA D ‘M’ GTF v Tw SUAWN) 8. TR P 08 G302
m’ A3\WolT &ol. g35w9 m’ OSSR SO 5698, e .::5.:;:{3 aos), ga5w9 Sogiea

Options:
Remain unchanged

. £9e°1 &0l

Change along the horizontal direction

5 % L8 DAToHS HFS” ArdON

Move up n vertical direction

3 £82°S Vool DS

Move down in the vertical direction and changes along the horizontal

i % £92 Lot B35 3088 B AB0IL £AB DATHE BFS° ATrdON

Question Number : 97 Question Id : 813561417 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The energy stored m a 50 mH inductor carrying a current of 4 A4 1s

4 A DS pTITAD &) 50 mH HOSSS” Jex ol 38

Options:
1.« 0.4]

> % 4017
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3 % 081J

4 % 0.047

Question Number : 98 Question Id : 813561418 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Find the apparent weight of a body of mass 1.0 kg falling with an acceleration of 10 m.s™2.

(g~ 10m.s7%)

10 m. 572 88mand’ ot D&BD) 1.0 kg G103 0 R0 Gy3Erew Jod?
(g~ 10m.s%)

Options:

1kgwt

1. %

5 % 2kgwt

0.5 kg wt

Question Number : 99 Question Id : 813561419 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The displacement of a body when 1t covers a distance of “c/4” (where ¢ 1s circumference) along
the circumference of the circle of radius r with a uniform speed u 15

i a=5a=gan (10 SB08D PGS ¢/4 [Sygan BroEus ¢'] droan HairomRd
S0 ga@pa:m Dodh?
Options:

1.8 T
). v TV2

3.8 &

4.3 712

Question Number : 100 Question Id : 813561420 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Two waves of frequency f and amplitude ‘a’ superimpose with each other. The total intensity
15 directly proportional to

f 3‘6:?’.365;.‘13) ‘a’ $003% HBMEA (5L Botd Sdorred wé RS W) sbfox::a)m 000 830
B8 9065 D dans’ Gotnod

Options:

a

2a
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2a°

Question Number : 101 Question Id : 813561421 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A hydrogen like atom has one electron revolving round a stationary nucleus, If the energy

required to excite the electron from the 2™ orbit to 3" orbit is 47.2 eV, find the atomic
number of the given atom,

28 &R Jobd DEATEVY) as), ;go SogEa Lt 28 JUSR BWMBR. &
DUTRA Totisd SL] Aot PED SE(8) GBRVHLL THVIY 35 47.2 eV. AR,
&5 DOATEVR) AE); DOITED Vo) VoG

Options:

1.% 3

Question Number : 102 Question Id : 813561422 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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On getting reflected at a surface, the intensity of sound 1s found to be decreased by 20%. If ‘A’
be the amplitude of the incident sound waves. then the amplitude of reflected sound waves 1s

WS VAW bg DT"000 WoldW c,.‘:sD A8 20% agagn s :J“lf:i). 23 Sbofd
§0DRNBS ‘A" ond. DT0:) Sdoria 800RDBVE dod?
Options:

4A
5

1. %

Question Number : 103 Question Id : 813561423 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A light wave has a frequency of 4 X 10'* Hz and a wavelength of 5 X 107 m in a medium.
The refractive index of the medium 15

w8 QIrd%ed’ 1€ T°0d dbotfo A0S, LYo 4 X 10 Hz:208080 860 3%
5 X 107m. 0w & ordgo alvg) S8 (Hrgo Jod?

Options:

1.v 15
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1.33

1.0

0.66

Question Number : 104 Question Id : 813561424 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A particle is moving an x-axis has potential energy U = 2 — 20x + 5x* J along x-axis. The
particle is released at x = —3, The maximum value of x will be (x is in meters and U 1s in joules)

X-0830 Dord VAW & i) St DB 8 U =2 - 20x +51° T ) x = -3 3¢
60T, x a8 (80 D [x oxs 6%, U g% ey on.]
Options:

1, % Om

3m

3. @ O

8m

Question Number : 105 Question Id : 813561425 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The average kmetic energy of H, molecules at 300 K 1s E . At the same temperature the average
kinetic energy of 0, molecule 1s

300 K 56 H, 563rmd) g, 1948 E. b 6266 36 0, 26armi) amg) 60 33

Options:

Question Number : 106 Question Id : 813561426 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The escape velocity for a planet whose radius is 1.7 X 10° m and acceleration due to gravity

is1.7m.s%1s

08 (e 68w 17 X 10° m, & héod@(onn 1.7 m.s™. ood e (e
DT80

Options:

;% 1.7 km.s™ 1

5 2.89 km.s™?!
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: <y
3 1.7v2 km.s

—1
4 % 3.4 km.s

Question Number : 107 Question Id : 813561427 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

At what height from surface of earth the value of acceleration due to gravity will fall to half
that on the surface of the earth?

3> 690900 Dot Jodh ol.)e;ﬁo Dg ﬁ)d)ejs 2355930 QS Hr &HdSG0 bJQSoEj DTS
HE 00D

Options:

| % 2625 m

s 2625 km

;% 2526 m

4« 2526 km

Question Number : 108 Question Id : 813561428 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Choose the physical quantity pair with the same dimensions

208 (A7) ALY (o T AST oL 2

Options:
angular momentum and work

. E'rdah S1DAED 206050 DY

work and torque

5 o DD Bt (@63}) LIRS A

potential energy and linear momentum

2 % 2O BB GHOKL G5 Sridw

kinetic energy and velocity

4 v (102 33 oBasd Sl

Question Number : 109 Question Id : 813561429 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Practically ozone layer absorbs radiations of wavelength

5895 J6 Je0d0td ddoﬁ%n o Dddrro 6T ) SorT $ 250 BR0E008?

Options:

Lessthan 3 X 1077 m

3X 1077 m ot LEURS
1.

Greater than 3 X 107" m

> & 3X 1077 m €083 DE) D
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Equalto 3 X 107" m
3 X 1077 m £ DIATEIDD

All of these answers are correct
2 @ébﬁ)«oﬁm 20 20700

Question Number : 110 Question Id : 813561430 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Simultaneously, from the top of a tower, when ball-1 1s thrown horizontally and ball-2 1s just
dropped. i the absence of air resistance which among the following options is correct?

0 ) T¢I B i, w8 Rrddw Q6 08 13 008 K E82 DAToB6orT
DB, 58 VDAY 29 WoB §08S SADIY W, & Sod PIBTVY' DA etw?

Options:
Ball-1 reaches the ground first

| % 20871 2068 B DA

Ball-2 reaches the ground first

5 % 209-2 J0G o) BERD

Both will reach the ground simultaneously

- B0t 2)oeheD w80 ZIrad DA

Either ball-1 or ball-2 reach the ground first depending on which ever is heavier

, ©08-11, 0od-2 D6 8D WY G0t 96 L) A WERD
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Question Number : 111 Question Id : 813561431 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In a photodiode. the value of the e.m. f. produced by a monochromatic light beam 1
proportional to

8 D38 00 T’ Garé Qoo DAY D6\ e.m. f. (Deiogery©S o)
& e9:08" T AT GotLod

Options:
The barrier potential at p — n junction
p —n Vod 958 3S) S0

1. %

The intensity of light falling on the photodiode
, v TE'EDTrE DG DED 5708 BB

The frequency of light falling on the photodiode

- & T EAPE DG DED $08 JDRHEBW

The voltage applied at the p — n junction

P — N P0d DS d0IdS ST
4, % @ = &

Question Number : 112 Question Id : 813561432 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The coefficient of mutual inductance between the primary and the secondary coil of a
transformer is 0.2 H. When the current in the primary changes by 5 A.s™*. the induced
e.m. f. n the secondary will be

w8 DBHESIN AI0g), S, BLAAD A e 206 eSﬂ 2083w 0.2 H.
TS Brf S’ DS DT> Aoy B 54,57 Lo, BB & B’
20 Dmmus 2o (e.m. f.) Qe S0F Hw.

Options:
1. % 5V
2.v 1V

4 % 10V

Question Number : 113 Question Id : 813561433 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A magnet of magnetic moment M is rotated through 360° in a magnetic field H. the work
done will be

O 08 EPASIN M (i LI 0T oD 08 E30 H &° 360° Eracd T
S\, 2BAR D

Options:
MH

1%

« 2MH
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Question Number : 114 Question Id : 813561434 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Three charges 44, Q and q are placed at positions 0,[/2 and [ respectively along a straight line.
If the resultant force on g 1s zero, then Q 1s equal to

28 6% 8 &cs 0,1 /2 8050 | Dot 56 44, Q DBk g BTV DDV Gt .

q 3% e DS LA APYAY 00, § Dusd

Options:

1.¢ 4

—2q
. —q/2

4qgt
. % 1

Question Number : 115 Question Id : 813561435 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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PQ represents a wave front and AO and BP, the corresponding two

rays. Find the condition on Q for constructive mterference at P

between ray BP and reflected ray OP

D008 PQ Sborm a8); Gt oty 40 SHdosn BP
PG, $6man BP Sodaky I}U‘égém{mé S6ew 0P ©

Q) (2 P o4 500 o ad ;ﬁ]gaédmm} 2O0E=AS (0 Aot

Options:
3A
cos @ =—
1. % 2d
A
cos @ =—
2‘ J 4d

A
~ secO —cos =—
3 8 d

44

secH —cosB =—
4, % d

Question Number : 116 Question Id : 813561436 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The radius of the bore of a capillary tube 15 ‘r” and the angle of contact of the liquid 15 ‘0". When
the tube 1s dipped in the liquid. the radius of curvature of the meniscus of liquid rising i the tube 1s

w8 $E08 A0g) T 0o 1, ) )0 Eo ‘6.6 080 A" 200DR T’ DA
thogsBa A3g), I$TF 353"24::

Options:

| % rsin@
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Question Number : 117 Question Id : 813561437 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

There 1s no change in internal energy of an ideal gas when it undergoes

3650 TSP oBGD FSS” ATy DYED Gotdd?

Options:

Isothermal expansion

D0 agg@v oT-Toud

Adiabatic expansion

8, g6 o
5 % ST DSo%

Free expansion

- E'chaa0
2 o D

Isobaric expansion

fgcs DED a:g%‘::.:m
4, %

AP EAMCET 2020

-

el

collegedunia:s

India’s largest Student Review Platform



AP EAMCET 2020

Question Number : 118 Question Id : 813561438 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

When two bodies collide elastically. then

B0t SPL VOFDEoT GE'083, eI

Options:
Kinetic energy of the system alone 1s conserved

(DD e, 2238 ATrdha :)é?gésmonﬁn&
1. % » R

Only momentum 1s conserved

QS0 AT QNS OO0
2%"“"?3 > o 655 SD

Both Kinetic energy and momentum is conserved

5. (3238 00A3D SO BotiT™ AS{BIAVT EotIo

Neither kinetic energy nor momentum 1s conserved

E & (O28S S0BAIL BI(DMTN TotdeS” DD IS 5.

Question Number : 119 Question Id : 813561439 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following parameters does not characterize the thermodynamic state of matter?

$oBT S B alog), &2 (1SS %a:) APWOLIR DTS

Options:

1.8
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Temperature

agf’gé

Pressure
DESID

Work

3.Y

Volume
R 0BT eI

Question Number : 120 Question Id : 813561440 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The retarding potential necessary to stop the emussion of photoelectrons, when a target materal

of work function 1.24 eV is irradiated with light of wavelength 4.36 X 1077 m is

1.24 eV 53 H0ahi o Vg HErganD 436 X 107 m 86ofs A6 0 503 S0

DSB8 BoBIY Y 5708 VTRV GOTY) BYLL TV WS TBIoheS Dewsd

Options:

. % 408eV

> # 2.84eV

3 1.60 eV
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4 % 0.36eV

Chemistry
Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 40
Number of Questions to be attempted : 40
Section Marks: 40
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes

Question Number : 121 Question Id : 813561441 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Calculate the coordination number of Na* in NaCl crystal. given radius of Na* and CI™ are
95 pm and 181 pm respectively.

Na*, I @08 agocen S 95 pm, 181 pm o ady300d, NaCl 2y8608" Na*
RO Roa dod ?

Options:
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Question Number : 122 Question Id : 813561442 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The yellow color of chromate ion and orange color of dichromate 1on is due to

2085 00 (o DY) Forld 080K Qg 208 308 (10 T*0o2 GoDVE) S°EEAD

Options:

d — d transition only
d — d 0289 3783

Charge transfer only
s D330 289 SIeSaD

Both d — d transition and Charge transfer
d — d 08 208050 eS80 LB Bocodry

s — d transitions only

| s-dw&bwgéo
4, %

Question Number : 123 Question Id : 813561443 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Gas ‘X" 15 obtained on heating KC10, with catalyst Mn0,.This gas (in excess) on reaction with
white Phosphorus forms an acidic oxide ‘Y". *Y" on dissolving in water forms a compound ‘Z".
[dentify X. Y and Z

KC103 % Mn0, &8)680 2E08" 6 B X' T0d0) JIGNE. ©b 8¢

s’

Fy00 & 068 2dods® 56{ Tod Y R ey 6F\E A 61608, ‘Y S 5608 Z
00 ¥:0 A6 \EAA. X, Y, Z 0 hdotdol

Options:

. 02 P05, H3PO,

03, P;0s, H3PO,

2. %
, « 02 P203, H3PO;

4 % 02 P05, HyPO;

Question Number : 124 Question Id : 813561444 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The ‘Dry ice’ 1s

3 i Peble b

Options:
Dry CO, gas

% T CO, T
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Solid €0,

200 CO,
2.

Dry S0, gas
Y u Jé S0, Tro30D

Solid NH;
4w D0 NH;

AP EAMCET 2020

Question Number : 125 Question Id : 813561445 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following 1s used in detergents?

S0l TS BIR CLeBoS” &DATAIW?

Options:
Sodium acetate
_— Voo e

Sodium stearate
. éoo DOoKES

Calcium stearate

SO OGS
3.8 @ e

Sodium lauryl sulphate

J.odo 3 DTS
4.9 -
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Question Number : 126 Question Id : 813561446 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following complex 1on shows geometrical isomerism?

Sod TS £ 3‘6@?‘53‘1 QG.‘)&;}D{S “aacégo &7

Options:

i [Cr(H,0),CL,]*

 [Pt(NH3);CIY
2. %

3 % [CG(NH3)6]+3

- [Co(CN)s (NC)]*™

Question Number : 127 Question Id : 813561447 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following molecules can be represented as AB, E,. where A- Central atom. B-
Bond pairs of electrons, E- Lone pairs of electrons

$oBTS" 2 BEY AB,E, 6rddns” )ty grabiodn? @86 A-Sods DOm0,
B-2060820% JUSS 208, E- 200 JUT'S 2od) DL AR .

Options:
SO,

1. %
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oo X@Fz

Question Number : 128 Question Id : 813561448 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following is used as a food preservative?

3oBTS’ 3258 DTV DX B8 DT fodd (R8(0S) 20503 Sl BN D8?

Options:

1 % CﬁﬁscHzoNﬂ

7 % C5H5COOONH

3 CGHSCOON{T

_ CzH-CH = CHCOONa

e

Question Number : 129 Question Id : 813561449 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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0.12 g of an organic compound ‘X" containing phosphorus on reacting with magnesia mixture

gave 0.22 g of magnesium pyro phosphate (M g,P,05). The percentage of phosphorus in the
compound X’ 1s

F70y65 07 0.12 Tratoow 576y 30 ¢80 2y ok 32008 6] Todd 0.22 e
o) oo 8 X6 (Mg,P,0;) & D6, o &8 30 ¥ed” 18D VoL
TS0 (1tdotiot.

Options:

| % 45.30%

, % 2870%

0
. x 64.25%

- 51.20 %

Question Number : 130 Question Id : 813561450 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which of the following statements 1s not correct?
A. Reduction of alumina to give aluminum by magnesium 1s thermodynamically feasible

B. The point of intersection of Al05 and M g0 curves in Ellingham diagram is below 1665 K
C. Use of magnesium as reducing agent in metallurgy of aluminum 1s economical

D. Ellingham diagram represents the graphical plot of Gibbs energy vs temyp. for the
formation of the oxides of common metals and reducing agents

308 THS 10 5 DDA DA?

A. 9&1:05333“ Dot) ww)g&n:)aimn £03086t 618 TR0 VS SV

B. d8ofl 5 g’ AI0; 2008 Mg0 © 3¢50 2o Docided) 1665 K gotd
B8, G0

C. &' avgams‘ wwvsa):}o.ﬁ.‘m e iy 0 mﬁlbmm $0508663T ¢
A AROVOFRO

D. Freron "o 516 DB LaNSmw e ﬁ:ﬁm 33 | eg“gaa Q06
owocsaw 892 e DB Ao DS Botrdd

Options:
1. % A

Question Number : 131 Question Id : 813561451 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

Number of different bonds present in P,04, 15

P00 & 0 DG 20T Roddy

Options:
8P — 0 bonds and 4 P = O bonds
8 P — 0 2omre) 00030 4 P = 0 2yore

1.%

12P — O bonds and 3 P = O bonds
5 % 12 P — 0 ore 200030 3 P = 0 2yore

12 P — O bonds and 4 P = O bonds

3 12 P — O 2doe) D003 4 P = 0 Qo0

8P — 0 bonds and 3 P = O bonds

i % 8 P — 0 eoren 200030 3 P = 0 LoPe

Question Number : 132 Question Id : 813561452 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The order of boiling points of the following compounds i1s:

208 DI YT T B eGS0 DBFLD G010

(CH3)sN CHyCH,CH,NH, CH3CH,NHCH;
(1) (11) (111)
Options:

. % (1) > (111) = (1)
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5w (i) > (i) > (i)

_ (1) > (1) > (1)

“

o o (11) > (111) > (1)

Question Number : 133 Question Id : 813561453 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The rate of a reaction doubles when the temperature 1s changed from 300 K to 310 K.
Activation energy of the change is (R=8314]. K .mol™).log2 = 0.301]

300 K 4000 310 K 6% 6256 20D 1565 362 3802) 0008, 136) 0308, s 43
(R =8.314]. K% mol™!) 8ot log 2 = 0.301

Options:

-1
i o 53.6 kJ.mol

> % 48.6 kJ.mol™*

3 58.5 kJ.mol™?!

4 % 60.5 kJ.mol™*

Question Number : 134 Question Id : 813561454 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

Which of the following statements 15 correct about photoelectric effect?

A. The number of electrons ejected from metal surface is mversely proportional to intensity of light

B. Below threshold frequency. photoelectric effect can be observed

C. At hugher frequency than threshold frequency. the ejected electrons have certain kinetic energy

D. At higher frequency than threshold frequency. the electron 1s still on the metal surface

508 (S DAL Dotoldot) Sold DIIBANVES’ DB Jin?
A, ') &003VAN Aok DBotseac: aejgf;; Roa] 508 S35 D ArTAANY’ Got
B. e360% m@aéan JOLLVE ﬂva@aﬁm 36 Sree S0 DS 2050 AtsBoriddd
C. e5608 (W Soff IS PP 3¢ U Eod (1D $8 Gocad

D. e5608 TiDR[w So) A3 IR0 36 TS 6% 6008V P MWL G0ty

Options:

Question Number : 135 Question Id : 813561455 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The oxidation number of an element 1 a compound 1s evaluated on the basts of certain rules.
Which of the following rules 1s not correct?

A. The oxidation number of hydrogen 1s always +1
B. The algebraic sum of all the oxidation numbers of all elements in a compound is zero

C. An element in the free or the uncombined state bears oxidation number zero

D. Inall its compounds, the oxidation number of fluorine is —1

w6 QrUSAN CE) ugbsw o) §) AoDHATVR BGeW) :)gon@“d.). & Sobd

QoDAres’ 8 W8 5°E?

A, TESS 881800 don Yy +1
B. %0 ¢33w6" rese D5 3ndan Hriw
E fas%rr AV TPVSIN O 8080tILIES ATPOSA eséhsdea ‘:ooaaé wap

D. 35 ding), ) vy varus™ o e8s6n Roa| -1

Options:

Lo B

3. =

4, %

Question Number : 136 Question Id : 813561456 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Calculate the amount of C0, gas produced, when 32¢g moles of CHj 1s burned with sufficient
amount of oxygen. (Given atomic weights of C = 12,0 = 16,H = 1)

320 78 © CH, & 8Nd0d 6829 TangHs’ 2odeddYE Jod 76w €0,
DRVHEIB0R? (GErondw: eeeroey € = 12,0 = 16,H = 1)

Options:
132 g

1. %

176 g

Question Number : 137 Question Id : 813561457 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Assertion: Standard boiling point of a liquid 1s shightly higher than the normal botling point

Reason: 1 bar pressure 1s slightly less than 1 atm pressure

)080m: 28 GRS DI LTI Fdo B P L@ o Soff SO ey 3
s6m0: 1 &r6(bar) 6o 1 &) (atm) St Soff EBIT 8y

Options:
Assertion and reasoning are correct statements and reason 1s the correct explanation for assertion

| G800 ot S0 DO HSERTLD, 560 G)DETRE) B D6 F\IE
1. ®
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Assertion and reasoning are correct statements and reason 1s not the explanation for assertion

(5,506 OO T6e0 BADR DIWTL, T6e0 GyEEEE D D6 A

Assertion 1s correct. reason i1s wrong

| GyDE66 DOTDIA, STEE0 DOTDIE ST

Assertion 1s wrong. reason 1s correct

SDEGEr BDY, TG0 PDBADIA
- ) DY 2

Question Number : 138 Question Id : 813561458 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which transition metal oxide among the following has electrical conductivity similar to that of
copper’

305" D HBI6H Ares 83\E THS RSP DArDo JEEErSd $HA Gotod?

Options:
1. % MnO

, » FeO

3. v 1e0s

4 Ti0;

Question Number : 139 Question Id : 813561459 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

The non-aromatic compound among the following is

AP EAMCET 2020

08708 JEITSS DI TS 508 D& ?

Options:

Question Number : 140 Question Id : 813561460 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

AP EAMCET 2020
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Which of the following statements 1s correct about “shielding effect™

A. It1s effective when the orbitals in the inner shells are completely filled

B. Inner shells do not show any effect
C. With mcrease of shielding down the group, 1onization energy increases

D. With increasing nuclear charge. the shielding effect increases

HDBGES DIPHANHL WotloBot) SoBTES’ 2 DALV DB ONIA?
A, 600 5E" 8 ErH0) IPET AodadAY D 260 IS0
B. 90806 $5{0 JenSof Perddn wrdY
C. 679 &' $orsth J'idipyh H06Le DA Tetd LAHALCE 3§ DAXHAER

D. Sogi¢ esdH08" DAMELS HBOLS DrHAD DAXHAIE

Options:

1w A

Question Number : 141 Question Id : 813561461 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which of the following compounds are formed when boron trichloride 1s treated with water?

'0S © §06 20 O t56) ToBows™ $0d TS D HRFTL DoyAL?

Options:

. » HiBO3 + HCI

. BaHg + HCI

.« B203 + HCI

, x HBO3 + HCI

Question Number : 142 Question Id : 813561462 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

*No two electrons in an atom can have the same set of all four quantum numbers”. This
princtple 1s called

28 DEJPRPS” D Totd JTHL 2,8 WA (10 TR SN RoP(RD GoCErEdD.
& QoDHATY) D HWFE?

Options:
Zeeman Effect
| x 230 DO

Pauli’s Exclusion Principle

O 565 Lrdan
2. ¢ ®
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Stark Effect

. 3°6), DO
3.8 =

Heisenberg Principle

FRgSISTASIRN S LRt

Question Number : 143 Question Id : 813561463 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Intermolecular forces 1 nylon-6.6 are

DerD-6,6 &5 903G LETVIS) STGEAAN

Options:
Dipole — dipole interactions

BYED- BIEID DORVNG eO[eD

Hydrogen Bonding

TERS Lomren

Vander Waal’s forces

- TR ES TS werew

Tonic bonds

. ©9035°0S oD

Question Number : 144 Question Id : 813561464 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

The main constituent of vinegar is

D6 5" HEER 9RVDVLISHD

Options:
Formic acid
&6&5 5050

Oxalic acid
5798 050

Nitric acid
NI pebie by

Acetic acid

DS eS8
4.9 .

Question Number : 145 Question Id : 813561465 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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What will be the product A 1in the reaction given below?

AP EAMCET 2020

Sod :‘.'36595‘ GSyO) AW A Dae)?
CH:
Conc. HNO;
> A
el HNO3
NO-
Options:
CHj;
NO2
NO»
1. ®
CH;j;
NO2
NO»
2.
3. %

AP EAMCET 2020
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C«HS
O>N NO>
NO»
NO»
CH;3

Question Number : 146 Question Id : 813561466 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Oxidation number of Cr in [Cr(CO)g] is

[Cr(C0)] &° Cr e981863 Roadg

Options:

i B

2. % —6

o g
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Question Number : 147 Question Id : 813561467 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following is not a semisynthetic polymer?

$0BTIS" 8 £,80 FIE G A6 ?

Options:
cis-poly 1soprene

D2 T 20

Cellulose nitrate
| PGS D

Cellulose acetate
_ ?ag.pe.‘i" 5 DS

Vulcanized rubber.
SV) DB DI Ceaydd

Question Number : 148 Question Id : 813561468 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The types of hybridization on the five carbon atoms from left to right in pent-1-en-4-yne are

Dot-1-6:9-4-09 aog), DA TGO DBATRVHVE DG Aot BES WesBEGE0e” §5

Options:

sp?, sp?, sp3, sp, s
P spP spd sp, sp

. Sp, sp, sp®, sp?, sp?

sp?, sp?, sp, sp, sp°

_ sp?, sp, sp®, sp, sp®

Question Number : 149 Question Id : 813561469 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the products indicates the presence of Sulphur atom in an organic compound. in
qualitative elemental analysis?

569 :o:wéww‘a ) D300’ & S08 TS D &8y9)0, 86,9 ‘rb;'wé%.‘.\né‘
90,6 649 1rdiot?
Options:

F€2504

1.8

5 % Zns

Mg$
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2 o FBB

Question Number : 150 Question Id : 813561470 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
The uncertainty in the position of an electron moving with velocity of 3 X 10* em/s s

0—23

(given mass of electron = 9.1 X 10™“°, uncertamnty i velocity = 0.02% )

3 X 10* em/s diod t5Bortoeidny VS Aws), gaoes‘* 03\ I0 fiedotsod:
(Sgrodo: dUSS B5(073=9.1 X 107%°, Driot” 03y88¢0=0.02%)

Options:
1.8 X 1073 cm

1. %

=
5. 9 X10 “ecm

3 % 3.8 X107 % em

18 x10™%¢cm
8.

Question Number : 151 Question Id : 813561471 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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When SbF; reacts with XeF, to form an adduct. the shapes of cation and anion in the adduct
respectively are

XeF, & 56y Jol ShF; 00808 A ¥rrd) V6BV & VsdY “fobaéﬁaoé“.ﬁ
505 08050 BRI G5B DA

Options:
Square planar, trigonal bipyramidal

SBACR VBV0, GET0H BRFET(S o

1.%

T-shaped. octahedral

5 o T-e35°Co, @qﬁ.}gvs

Square pyramidal. octahedral

L o DEOR ATEGE o, elovs

Plane triangular. trigonal bipyramidal

ol QoD RS0, BE 0D ARrETE o

Question Number : 152 Question Id : 813561472 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following 1s not a characteristic of chemisorption?

& $08 T°5° S ANIE AT NEANIL) vDergeis 360 58 2B?

Options:
Adsorption is highly specific
., ©BFTAmo ©B10d JFNIG
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Heat of adsorption is around 400 kJ. mol™*
. BTN Qo WS 400 kJ.mol™*

The process 1s ureversible

e9R0BIOEI0H DEOH

3, =

It forms multimolecular layer

i e9DE L9V TR chc&wm

Question Number : 153 Question Id : 813561473 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A 200 W, 100 V bulb 1s connected in series with an electrolytic cell. If an aqueous solution of
an Sn-salt 1s electrolyzed for 5 hrs. 11.1 g of Sn gets deposited. The chemical formula of the

compound 13 (Given atomic weight of Sn is 118.7 g mol™

28 200 W, 100 V we0yd Sn 0560 S80S 20 gaw:)l $6365° 90RO HAD BN 5
flote) Jren DSBS OJ. 11.1 g Sn A0 LAJA. © VA0 ¥R 6roDS
,3"6)&9.? (Sgrogan: Sn ahog) emersdw 118.7 gmol™)

Options:

5 % SnCl,

2 SnCl,

AP EAMCET 2020 )
collegedunia:s
India’s largest Student Review Platform

el



AP EAMCET 2020

4 % Sno,

Question Number : 154 Question Id : 813561474 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

An example for hydrophobic sol among the following 1s

2oBTIS° TFEIDE FS D w8 eTron

Options:
Gum solution
o 2O T

Arsenic sulphide solution

O S VTG BP9
2'\7_,25:) COL‘D (e )

Starch solution

.3"5')(33::&) oS0
3, % ©

Protein solution

o x TOD T

Question Number : 155 Question Id : 813561475 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Strongest conjugate base among the following is

$oHT°S” S0t LIVBAND VA B0 IB?
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Question Number : 156 Question Id : 813561476 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Match the items of List-I with those of List-II and choose the correct option given below.

List-1 List-IT
a) Calcination 1. Galena
b) Roasting . Magnetite
¢) Magnetic separation 1. Pyrometallurgy
d) Carbon reduction of metal oxide iv. Malachite

13 :Jgse‘i‘ (0 0TV 29 ::egses‘ (0 SRS oTOS 28 DOt

S| 0 -1I
A} (4]
a) B S0mAN L 6493
b) 2654w i a0y 6
&
¢) oD oBnd S Sasne li e 6 TR
d) 8 63 \E 0 T6\0 § abeboriob | iv. AreEs

Options:
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_a)—>(v), b)—> (), o) (i), d)-— (i),

1. "

, g2 W), b)=(), ¢-G) d)- (i)

5 a) — (ii), b)— (iv), ¢) — (ii), d) — (ii)

a) - (i), b) = G), o -G, d)-@v)
4. %

Question Number : 157 Question Id : 813561477 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

For a reversible reaction. if the concentration of the reactants is reduced to half. the equilibrium
constant will be

28 G320 6(6" Sairadse mEduRL ATIS SAeddY), T WSRO

0050
]

Options:
Doubled
080 e

1.%

Halved
x Mo 0

Reduced to one-fourth

TS DodL B
3.8 2
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Remains same

, BCdy Gotied
4.

Question Number : 158 Question Id : 813561478 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The temperature at which 4 moles of a gas occupy 5 dm? volume at 3.32 bar pressure is

5 dm’® £0R%0re30, 3.32 bar (er6) e 3¢ 4 e Tahu) g eT'e

Options:
1 & 50K

5 u S

2 w AT

, % 100K

Question Number : 159 Question Id : 813561479 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which of the followng statements 15 mcorrect?

A. The property of liquid drops to have minimum surface area is called surface tension
B. Surface tension of liquids decreases with rise in temperature
C. The STunit of surface tension in N.m™

D. Magnitude of surface tension is less when there 1s strong attractive force between the molecules

S00 DAWTOE DOTR PSRN D&?
A B5Dothen 88y 60080 PTUfod SDA Gol 67|y VSIS Votrd
B. &0 28RS dudd(® drbdoed

C. dudi(d S| dirmo N.m™

D. e 26 WY B5¢H wered Gof) USRS H0rHo Shded

Options:

Question Number : 160 Question Id : 813561480 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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What is the hybridization of Be in BeF, molecule?

BeF, o) er (0 @rn)eS” Be Dos6ssto 96 ?

Options:

- dsp?®

) % Sp°d

3 &

3
4, % SP
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